T(_4-3) T (0,4

Translate 0 units
horizontally and 4 units
down

Translate 4 units to the
left and 3 units down
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Rx=2 Rx—axis

Reflect across the line
X =2

Reflect across the x - axis
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T'(180°,0) ¥'(270°,0)
M Q
Rotate 180 degrees Rotate 270 degrees
about the origin about the origin
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N P
Reflect across the y — axis and Rotate 180 degrees, then
then Translate 4 units right Translate 6 units left and 0
and 3 units down units vertically
Y W

AT\

% 3
2

1

-5 4 -3 -2 10
4 .
-2

-3

-4

-5

1 2 3 4 5




CARDS THAT DO NOT HAVE A MATCH.
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Translate 3 units to the
right and 4 units down

Translate 6 units left and 0
units vertically, then Rotate
180 degrees
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